Term 4 Session 5

Use a Rule to Make a Word

8l The words in the second set follow the same pattern as the words in

g the first set. Find the missing word to complete the set.

o

k) Look at this example:

sum (sun) pin sip (__SIt_) cat

1. big (bin) tin sad (| sag8 | ) dig
2. fan (ant) tap gel (| ek | )koi
3. mark (tar) tell fort (™" | ) name
4. pile (top) atom note (| can | ) scar
5. fall (lit) sift time (| map | ) carp
6. bust (tub) trim dump (| P ) base
7. part (eat) tune dark (| 2 ) deal
8. miss (sin) dune redo ( den ) tank
9. rain (kin) rank main (_| tin ) mist

10. mile (lit) bits mask ( ) tide
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Spatial Reasoning - 3D Building Blocks

3D Rotation
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Maths Perimeter and Area

Shown below is a square.

3cm

Not drawn
accurately

;]Q(r‘\

Work out the perimeter of the square.

Shown below is an isosceles triangle.

Calculate the perimeter of the triangle.

9cm

=20

4cm

A rectangle has a perimeter of 32cm.
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Write down a possible pair of values for its length and width.

o

A rectangle has a perimeter of 20cm.

Write down a possible pair of values for its length and width.

2cm
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Calculate the perimeter of the shape above.
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Calculate the perimeter of the shape above.
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The perimeter of a parallelogram is 17cm.

The length of each long side is 5cm.

Work out the length of each short side.

Shown below is a rectangle.

6cm accuratoly
nl 2cm
e = 4™

Work out the perimeter of the rectangle.
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Question 1: Calculate the area of each of these rectangles
d
@ ® (© @ .
12cm
LS [sem §G |rem mm Hm
(e) (f) (e) (h)
20cm 25¢cm 14em 50em
2L O [1lem 2 5@ 10em 4cm 20cm
(i) §) 2mies (&) U
3m ,.L L|- ; C F) 65cm
i mm
o 18 miles| U § 9cm
33mm
Question 2: Work out the area of each of these squares
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Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Question 6:

A farmer has a field that is 300m long and 70m wide.
Calculate the area of the field.

21 |OOC/ Mt

A piece of paper has a length of 18cm and a width of 6cm.
Find the area of paper.
pap e 8 U"‘l

A rectangle has an area of 30cm?
Write down the length and width of three rectangles with an area of 30cm?

AQecmt

These two rectangles have the same area.
Find the length of the second rectangle.
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A rectangle has an area of 80cm? and a perimeter of 48cm.

Find the length and width of the rectangle. o
4 ly
A rectangle has an area of 100cm? and a perimeter of 104cm. @of
2

Find the length and width of the rectangle.




